G 2t %t it
AR SIS IO

T B & N

2010 4
(12) BWR ERITTFRE T (x) 2 f(x+y)=f(x)+ f(y)+4xy (. yeR), Hf'(1)=2,
IR (X)) =0 IR ( )

(A) 0 (B) 0,2 qey

(25) CARKRM 5 4, SCEFEFEAAMD
W f(x)=x*-2x+alnx(x>0) A2 HRiFR %, HIH/ME.

A I
2 2

N | —

3+1n4

(1) SR Sa MIUETRL (1) Box, REEE(x) OB, T -2 < f (%) <o0.

(27) (AR 15 57, B TRREELEAHD
W f (X)) =ax—Inx(x>0)7E x = x, AL Pr i 5 /MA 2

(1) skaflx, KI1HE;

X +X,

(I BExe x, AT IR, iEHEf(xl)+f(x2)22f( ],%aa%xlzxzaﬁ, T s
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(1) %E}i&f(x)=x2-4x+%ft|2[‘m (1, +oo) EBEH, WM Ha WBUETEEAN ¢ )

(A) oo, 2] (B) (co0, -2L1  (C) (coos -21 (D) (con, 327
4 27 27

21> CRAE# 7> 14 73)
sk x>y =8 #iEe= (1, 2) “FREHRMIILC 5HL . 2x+ry=afll], Kall
DA C 51 AL f At

2008 4
(4) FHHZLI 5k xy =6 HTT & p2,3), MEZLIFREN ( )

3 3 3 3
(A) 5 (B) 2 ©) 2 (D) 5

(6) BRELF(X) =X —12x+3(-3<x <3) MMEH NIX A ( )

(A) [-13,19]  ®) [-13,21] (©) [-6,12] (D)[-6,19]

(26) (A 71 15 73, PR A A
&@i&f(x)=§—ln(€/§)(x>0), HH{a ) MEMa>1 Ha =0, “n22K, a =3f(a,,)

(D REREL f (x) Fs/ME DU LR x s (1D UEBH: “n>28f, #Fa, >a,,, >1.
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(12) BHfx) 2R WA SEE, THIFRBHIEMPZE ( )

(AE ') ZHEE f(x) 2 HEE (B) & f'(x) 2 HE B f(x) /227K EL

(OF ') RAFHRE f() ZAFEE (D) & () ZAERHN f(x) 21553

(18) By = x> +3ax’ +3bx ZEX [A][-1 , 110, Ha>0, N2a+bHmKKEN .

(21> &7 14 73
BRI £ (X)=X* +3x* +ax+b, sZ¥a,b &%

(D AHHiZy = f(x) RAERVIZRAREANT -2, Wa,b KBUE G e ?

(ID EMHHZE y = £ (x) BH OSBRI ;IR HRAR A AR R
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(12) 25 f(x) fMg(x) & R LA S, SHMEESZ#x, #H f(x)g(x)=0H

f(x)9'0) > f'(x)g9(x), M4, Ha<x<bhf, UH ( )
A) f)g(x) > f(x)gb) B) f(x)g9(x)> f(a)g(@)

©) fgb)>fb)gx) (D) f(x)g@> f(@g(x)

(25) (A7 15 55, SCRFFEAMD

WHEE f () =x—In(x+1)(x>-1). (I REE F(x) [ X 7] A i /)M 5

2a +bln 2b

a+b a+b

<In2

(ID Xi#%0<a-b<l<a+b,RiF: 0<aln

(27) CAEH 5> 15 57, B LRFEEAAMED
WIEE X, Yyl 2x> +y* —4x=0. (1) R x FEUETEE: (ID Kigx+lgy HH KE:
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(24) (ARG 15 45, CEFEEAAHD

SKEREL F(X) = 5x— 4 X7 + X (x> 0) FR A X a) AR 42K

(26) (AR 5y 15 4, FETRFEEAED
SKEEE f(X) =% =3x" —9x+5 (0=x<4) [FJfE.
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